
MATHS

BOOKS - VIDHYASANGAM - RAO'S

ACADEMY MATHS (KANNADA

ENGLISH)

NUMBER SYSTEM

Exercise 1 2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. Are the square roots of all positive integers

irrational ? If not give an example of the

square root of a number that is a rational

number

Watch Video Solution

2. Show that  can be represented on the

number line

Watch Video Solution

√5

https://dl.doubtnut.com/l/_NNJG36nFkrUn
https://dl.doubtnut.com/l/_QRuKL4Dc2IVR
https://dl.doubtnut.com/l/_qan7LXdBc9Ao


Exercise 1 3

3. Rationalise the denominators of the

following 

Watch Video Solution

1

9 − √2

1. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

36

100

https://dl.doubtnut.com/l/_qan7LXdBc9Ao
https://dl.doubtnut.com/l/_76Ig0ouLsb3t


2. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

1

11

3. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

4
1

8

https://dl.doubtnut.com/l/_76Ig0ouLsb3t
https://dl.doubtnut.com/l/_KAsZguSw3IGd
https://dl.doubtnut.com/l/_oUJBNkUOgUNz


4. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

3

13

5. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

2

11

https://dl.doubtnut.com/l/_oUJBNkUOgUNz
https://dl.doubtnut.com/l/_HggA6UqtQz3M
https://dl.doubtnut.com/l/_RlCbo0zd90EK


6. write the following in decimal form and say

what kind of decimal expansion each has: 

Watch Video Solution

329

400

7. you know that =  can you predict

what the decimal expansion of

 are without actually doing

the long division ? If so how [hint : study the
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https://dl.doubtnut.com/l/_RlCbo0zd90EK
https://dl.doubtnut.com/l/_1QtAbPOpgAih
https://dl.doubtnut.com/l/_ccXvWu91k3kG


remainders while finding the value of 

carefully]

Watch Video Solution

1

7

8. Express the following in the form of 

where p and q are integers and  

Watch Video Solution

p

q

q ≠ 0

0. 6̄

https://dl.doubtnut.com/l/_ccXvWu91k3kG
https://dl.doubtnut.com/l/_2qd8Im6F1oSW


9. Express the following in the form of 

where p and q are integers and  

Watch Video Solution

p

q

q ≠ 0

0.47̄

10. Express the following in the form of 

where p and q are integers and  

Watch Video Solution

p

q

q ≠ 0

0. ¯̄̄ ¯̄¯001

https://dl.doubtnut.com/l/_ccYiG9p0B2CB
https://dl.doubtnut.com/l/_6kNuhsDfjx2B
https://dl.doubtnut.com/l/_5MLZ9BY6VX6A


11. Express 0.9999…. In the form  are you

surprised by your answer ? With your teacher

and classmates discuss why the answer makes

sense

Watch Video Solution

p

q

12. what can the maximum number of digits be

in the repeating block of digits in the decimal

expansion of  ?

Watch Video Solution

1

17

https://dl.doubtnut.com/l/_5MLZ9BY6VX6A
https://dl.doubtnut.com/l/_AXjTNwJUMABP


13. Look at several example of rational

numbers in the form  where p and q are

integers with no common factors other than 1

and having terminating decimal

representations (expansions) can you guess

what property q must satisfy?

Watch Video Solution

p

q

14. write three numbers whose decimal

expansions are non- terminating non recuring

https://dl.doubtnut.com/l/_MN0a9XmgV2nA
https://dl.doubtnut.com/l/_BQkBRrZQugB7


Watch Video Solution

15. Find three different irrational number

between the rational number  and 

Watch Video Solution

5

7

9

11

16. Classify the following numbers as rational

or irrational 

Watch Video Solution

√8

√2

https://dl.doubtnut.com/l/_BQkBRrZQugB7
https://dl.doubtnut.com/l/_YDfB0oKeqQ7h
https://dl.doubtnut.com/l/_qksRKTjyPKKS


Exercise 1 4

1. Visualise 3.765 on the number line using

successive magnification

Watch Video Solution

2. Visualise  on the number line upto 4

decimal places

Watch Video Solution

4. ¯̄̄¯26

https://dl.doubtnut.com/l/_2bsVeTCygYnH
https://dl.doubtnut.com/l/_AGNf3qN0063c


Exercise 1 5

1. Classify the following numbers as rational or

irrational 

Watch Video Solution

2 − √5

2. Classify the following numbers as rational or

irrational 

Watch Video Solution

(3 + √23) − √23

https://dl.doubtnut.com/l/_2sSrQifW4752
https://dl.doubtnut.com/l/_3NO0J1uCCshJ


3. Classify the following numbers as rational or

irrational 

Watch Video Solution

2√7

7√7

4. Classify the following numbers as rational

or irrational 

Watch Video Solution

1

√2

https://dl.doubtnut.com/l/_3NO0J1uCCshJ
https://dl.doubtnut.com/l/_QWiv9DC8LdGK
https://dl.doubtnut.com/l/_KNVVmEnM9Gp4


5. Classify the following numbers as rational or

irrational 

Watch Video Solution

2π

6. Simplify the following expressions: 

Watch Video Solution

(3 + √3)(2 + √2)

https://dl.doubtnut.com/l/_KNVVmEnM9Gp4
https://dl.doubtnut.com/l/_xLjSNCNjNECq
https://dl.doubtnut.com/l/_LPXM2Jr9R3YX
https://dl.doubtnut.com/l/_ByFPBjNRyQTc


7. Simplify the following expressions: 

Watch Video Solution

(3 + √3)(3 − √3)

8. Simplify the following expressions: 

Watch Video Solution

(√5 + √2)
2

https://dl.doubtnut.com/l/_ByFPBjNRyQTc
https://dl.doubtnut.com/l/_9KVt6C4CSvlO


9. Simplify the following expressions: 

Watch Video Solution

(√5 − √2)(√5 + √2)

10. Real  is defined as the ratio of the

circumference (say c) of a circle to its diameter

(say d) i.e  this seems to contradict the

fact that  is irrational how will you resolve

this contradication ?

Watch Video Solution

π

π =
c

d

π

https://dl.doubtnut.com/l/_SyMzEr4euEF8
https://dl.doubtnut.com/l/_7EePTimuRXC7


11. Rationalise the denominators of the

following 

Watch Video Solution

1

√7

12. Rationalise the denominators of the

following 

Watch Video Solution

1

√7 − √6

https://dl.doubtnut.com/l/_7EePTimuRXC7
https://dl.doubtnut.com/l/_kFkiajSMiCWQ
https://dl.doubtnut.com/l/_eUAhZiGCWFKd


13. Rationalise the denominators of the

following 

Watch Video Solution

1

√5 + √2

14. Rationalise the denominators of the

following 

Watch Video Solution

1

√7 − 2

https://dl.doubtnut.com/l/_q1A5SDYV7eCB
https://dl.doubtnut.com/l/_31vvPgT1H5ox


Exercise 1 6

1. Find 

Watch Video Solution

64
1
2

2. Find 

Watch Video Solution

32
1

5

https://dl.doubtnut.com/l/_mipc63nttBJx
https://dl.doubtnut.com/l/_xlNFEbPcmvey
https://dl.doubtnut.com/l/_DBmgjDHJjHDk


3. Find 

Watch Video Solution

125
1

3

4. Find 

Watch Video Solution

9
3

2

5. Find 

32
2

5

https://dl.doubtnut.com/l/_DBmgjDHJjHDk
https://dl.doubtnut.com/l/_9tewPbHTvB3q
https://dl.doubtnut.com/l/_GIQrUgRGm86B


Watch Video Solution

6. Find 

Watch Video Solution

16
3

4

7. Find 

Watch Video Solution

125− 1

3

https://dl.doubtnut.com/l/_GIQrUgRGm86B
https://dl.doubtnut.com/l/_UqLhVH6qSWlC
https://dl.doubtnut.com/l/_MpChFCSPr1CX
https://dl.doubtnut.com/l/_EINYIT9YjGUx


8. Simplify 

Watch Video Solution

2 .2
2

3

1

5

9. Simplify 

Watch Video Solution

1

(33)
7

https://dl.doubtnut.com/l/_EINYIT9YjGUx
https://dl.doubtnut.com/l/_0GIyRHxIpyzk


10. Simplify 

Watch Video Solution

11
1

2

11
1

4

11. Simplify 

Watch Video Solution

(7 .8 )
1

2

1

2

https://dl.doubtnut.com/l/_GcaguXAtkrpT
https://dl.doubtnut.com/l/_Xjb1N0r3Hj5U

